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1. Esme buys 5 packets of apples for breakfast club.
Each packet of apples contains 6 apples.
How many apples does she buy altogether?

|
2. Ava is planting up lettuce seedlings.
She plants 4 lettuce seedlings in each plant pot.
How many lettuce seedlings does she plant in 9 plant pots?
2.
3. Imogen needs 3 tins of cat food every day to feed her cats.
How many tins does she need to feed her cats for 5 days?
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4. Ava is planting up viola plants.
She plants 5 viola plants in each plant pot.

How many viola plants does she plant in 8 plant pots?

5. There are 9 packs of bubble gum left on the shelf.
Each pack of bubble gum contains 7 bubble gum balls.
How many bubble gum balls altogether?

6. Esme buys 5 packets of bananas for breakfast club.
Each packet of bananas contains 7 bananas.

How many bananas does she buy altogether?
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